: EXI

AR AMDER S

M EXj2ele e&3t
Ciol: DAZAS ENHE 2 (S92l &)
424 - ZB-BR(3) - MRAY - BES 0f &b i HIDE2
EXI 6,065,514 7,796,873 A1,731,359
= 5,285,032
S 780,482
EX2ele =3t 6,025,206 7,758,134 N1,732,928
= 5,285,032
= 740,174
DAHSHO EXHE 29 886,197 880,749 5,448
= 870,927
= 15,270
EXzel L HHEN =S 7,770 7,770
201 2= 4,200 4,200
01 AtR2teld] 4,200 4,200
OSXIA =& ZHEIIHA HERA—ZE 2
= 4,200
202 04l 3,570 3,570
01 ZLHA LI 3,570 3,570
OERX2el & HeHEAN e 3,570
HE AR HREFX(21) 878,427 872,979 5,448
= 870,927
= 7,500
201 2= 9,000 9,000 0
= 4,500
== 4,500
01 At2tcIHl 9,000 9,000 0
OQIHESAIXIIL HR=F2l 9,000
= 4,500
< 4,500
202 04l 6,000 6,000 0
= 3,000
= 3,000
01 ZLHOHI 6,000 6,000 0
OMESAIXIDIF HE=X 6,000
= 3,000
= 3,000
308 XIXIEMSO0IE 863,427 857,979 5,448
= 863,427
01 AXSHHBEES 863,427 857,979 5,448
OMESAIXIO ZAH & AHE 863,427
= 863,427
EXNMHE 2 120,920 159,020 A38,100
= 75,000
= 45,920
ANE=E o2t 45,920 40,820 5,100
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Az AduE= 2AM  EX
M EXZHele 223
=@l EXNE 29 (2 M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
201 B2 AY| 37,420 32,320 5,100
01 ArR22eltl 37,420 32,320 5,100
OMNAHSXIA DIt XESI|=Y 2F 23,100
OXELA3 23 4,320
O2tdJId B&E2e| 10,000
202 odd| 8,500 8,500
01 =LH4 LI 8,500 8,500
OXNEZ=Z ~Hurztel 8,500
AN=ze|(=1) 75,000 118,200 A43,200
= 75,000
101 @I244| 22,000 21,000 1,000
= 22,000
M IRIMZ2ENSES 22,000 21,000 1,000
OJl&d 22l ¥ U=HYl s K=zl 22,000
= 22,000
308 RtXIHMSO0IH 53,000 97,200 44,200
= 53,000
01 AXHHBAELS 53,000 97,200 A44,200
OGPS &AlZEA Y 2HED|d S 2tel 53,000
= 53,000
SUEEs - ARE2A ALY 284,775 184,775 100,000
SUHEEBAY =& & X224 284,775 184,775 100,000
201 LEr2 A 175,000 175,000
01 AtS2telt| 4,000 4,000
oQuIIRIE =4 & XEE S 4,000
02 2329l 171,000 171,000 0
O3 EAIAH & 2UHEH RXIE+ 171,000
202 04| 9,775 9,775
01 =UHOHI 9,775 9,775
OZUHEEAMY =& L JX24 6,000
ot=gz dd gy N& 3,775
405 Xtk SH| 100,000 100,000
01 H& L SEFSHI 100,000 100,000
OZAT BHEBAIAE DEFHAHFY) 100,000
SREFA - 234 2e| 386,709 203,264 183,445
SREFA A FA 119,330 119,330 0
201 L2 AH| 12,530 12,530
01 At2eltl 12,530 12,530
OFAEE - NZRAS 29 7,530
O a4t Al tESH & F=AFHE EE 5,000
202 odb| 6,800 6,800
01 =LH4b] 6,800 6,800
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D AEuNS= 2N 0 EXD
D EXZele =83t

D EREFA - 2S4A 2el (EEREED
AR 2K - FR - C(SIH) - MIRAY - B (TPNET i HmE=FT
O=Z2EF4A & FSH 20F A =8 6,800
403 X EMSEXH=01H 100,000 100,000
01 REXISM A2 2 2 100,000 100,000
OF=2~ZEAIE &5 £ 8 100,000
=AFEI2E RXES AH(Z2OHEEXR) 228,206 65,318 162,888
403 MXISHSEX=01H 228,206 65,318 162,888
02 S| 2SoHEt A= AS AL 228,206 65,318 162,883
OFAZEIIE2: RANEs 228,206
CE2HFA - RS 2e(SHAFRY) 39,173 18,616 20,557
403 MRISHHSI=01H 39,173 18,616 20,557
02 SIS0 2 AEAIZ I 39,173 18,616 20,557
OFaFB2 AL S22 39,173
INESPUESNIN 4,346,605 6,330,326 1,983,721
= 4,339,105
< 7,500
NETHZEAALG Z=E(=1) 4,339,105 6,322,076 A1,982,971
= 4,339,105
201 ZBt2 ] 8,000 0 8,000
= 8,000
01 AtR2telHl 8,000 0 8,000
OXNHUZAIA RS 28 & E2= MA 8,000
= 8,000
202 04| 2,000 0 2,000
= 2,000
01 2LHAHI 2,000 0 2,000
O=LH0HI 2,000
= 2,000
308 A XA SOIA 4,329,105 6,322,076 A1,992,971
= 4,329,105
01 MASHBLEES 4,329,105 6,322,076 A1,992,971
OXIETHEAL A 4,329,105
= 4,329,105
INESPNEYNYN 2 7,500 8,250 AT50
201 Ler=g| 2,400 3,150 AT50
01 AtR2telHl 2,400 3,150 AT50
ONHUEAIARE 2 & E2= MH 2,400
202 Odt| 5,100 5,100
01 2LHOII 5,100 5,100
CPNESPUEININ === 5,100
HH2LHH(EX D) 40,308 38,739 1,569
=3 40,308 38,739 1,569
M2 J23H 40,308 38,739 1,569
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A= AEDER FA =X
. HY2AZUI(EXW)
okl D= (ol &e)
AR .S - FH . OP(BH) - IRAY - BAS 0l Ao i HRS2
201 et HH| 28,584 27,357 1,227
01 AF22elH| 28,584 27,357 1,227
OFRMN2H AIR2t2|HI 28,584
202 44| 7,524 7,182 342
01 ZLHMHI 7,524 7,182 342
2M2E S 7,524
203 PR =&IY| 4,200 4,200
M SIS LRFELI 4,200 4,200
©2521 0|at 350,000 = 12& 4,200
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